DLD CBeTUNBHUKM HaNpaBJIEHHOI0 CBETA C KOMNAKTHbIMU JIOMUHECLEHTHbLIMUW JlaMNaMU
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CBETUNbHUKA CBETUNbHUKA
DLD 118 1x18 0,9 G24-d2  G24-q2 1175000030** =0,45 1175000040/1175000050 = 0,96
DLD 218 2x18 0,9 G24-d2  G24-q2 1175000060** =>0,85 1175000070/1175000080 = 0,96
DLD 126 1x26 0,9 G24-d3  G24-q3 1175000090** =>0,45 1175000100/1175000110 = 0,96
DLD 226 2x26 0,9 G24-d3  G24-g3 1175000010** =>0,85 1175000120/1175000130 =0,96
DLD 132 1x32 1,3 - GX24-q3 - - 1175000140/1175000150 =0,96
DLD 232 2x32 13 - GX24-qg3 - - 1175000160/1175000170 =>0,96
DLD 242 2x42 13 - GX24-q4 - - 1175000020/1175000180 = 0,96
* Macca onTUYeCcKomn YacTu
156 ** CBETUNbHUK HEe KOMNNEKTYEeTCA 6JI0KOM aBapuitHOro NUTaHus





